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Why openEuler?

2} openEuler

There are serveral reasons to build openEuler project

openEuler ZEME 0= O| 7
1. Make new technology and features easier to
reach to the end users Mz 71& 71 L 25 287} features(S F)oll B €A B2
2. An unified platform to support different ISA
TS E| 222 ENFX| CHYSHIsA Al A S X|X|oHe
system from loT to Cloud sds= ==z

3. Need to make OS platform



R1 : Deliver New Features To End User Faster And Easier
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Several month or even one year H2 0 HI|2 Z2H A0 A|Zto] A E
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Enable commercial os vendor
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For commercial OS vendor, That' s reasonable. But can we

make thing better?
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R2 : ARM Is Used From loT To Cloud, But OS Is Not

loTRE SR ETX| ARM Z=AE HEE & US. os = XY
Now Target S &
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OS Platform

Support ARM, X86, RISCV system



R3 : Need To Make OS more easier

0s B &7 ALE & U7 BHS BaJt US.

Generally, IT infrastructure is complicated, It' s not easy use, opetimize
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and secure system.
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HOW openEUIer FIX R1 ? openEuler= R1E X O{E A S A=K

We need a new distribution to fix R1, But can another boring distribution

fix R1 actually?
kYLINSOFT

CENC zegmms BT
. iSoft Server OS V5.1 for Kunpeng Kylin Sever Operating System
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The Release Roadmap & OSV base uxuz#az 205712402

OSV release

openEuler
20.03 LTS

openEuler
22.03 LTS

openEuler

openEuler openEuler openEuler openEuler
2020.09 2021.03 2021.09 2022.03
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>>> >>> ‘ >>> ‘ >>> ‘ >>>

openEuler community
master

2020.03

Feature 1 Feature 2 Feature N

Making OS is a truly hard job !
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How Op@“EUIEI‘ Fixx R17? opentuiers ri2H of 2 sizstex|

openEuler is more aggressive in technology and release policy.
OPENEULER= 7|=w0F X &M Hs M 00| A & X=X O|Ct
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openEuler= 5 H=H 2l S 7 cycle(F7]) U=

« openEuler has more aggressive release cycle.

« Upstream first, but openEuler can take more aggressive

features.
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How opeéen Euler fix R2 openEuler= RVER| O | S| ZB}=X|

Need solutions which can help loT and cloud share the same infrastructure.

loT?t 22 E Z2 7|8 Al S A8 S == U o 220 2 TtCY.,

. Make virtulization

V \\ iSulad and container light

enough, Build a new

N . infrastructure from
StratoVirt

loT to cloud.
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How opeéen Euler fix R2 openEuler= RVER| O | S| ZB}=X|

ISula
Share the same software from

StratoVirt —loT, edge and cloud. Simplified

the software stack
kernel (oT, edge SEFRCTX| 22 ALEY 0| B, ALELO|S ZhA%
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How openEuler fix R3 opentuer= o2 raszstx

openEuler open to any new ideas. We want to do some change in OS areas.
£ 35
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Cloud Easy To

Secourlty Native Use
oHH Cloud Native B AP

openEuler will setup some projects which focus on those 3 areas
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Security On openEuler : secGear opentuler 217: secgear

Make confidential computing not difficult any more.
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 secGearService Layer secoer MHIAE - Build unified and easy
secGear Middleware Layer secGear O|SY 0 & to use Interface fOI‘ app
developers

secGear Base Layer secGear HO|A =

* |solate developers from

complicated hardware

SDKs
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Rethink OS By CloudNative Way o g2z os 12

'RPM based OS distribution has big problem when upgrade, maintainance.

0S F&ot= HIZ2 2 Bt=rev RS, RA|Z I X7t U=,

We need to put OS itself into
container as well.

We call it:

CLOUD
NATIVE OS

CLOUD NATIVE OSE 0S AtsXMo 2
ZAG| O| L (Container) 0| A A 4

Put OS itself into a container
Image. Upgrade OS means

replace container image than

. 0s AtsXM 2 = 74| 0| O] 0| X|( CONTAINER IMAGE)
yum install auspierec. 2aeols os o vume st
Al 2460]1 o[B|x| £ 1t

Consider to put more OS service

to cloud than locally.
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Easy To Use For openEuler oceneier 271 28

A-Tune : Performance tunning is not difficult any more.

A-Tune: Tunnmg—-—o“'of A H ol oz ol ot
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HPC Database o

Web Blg data 3 Modeling: Build optimal resource models for systems running on the

Building system profiles Kunpeng processor. -
for service scenarios ;
® < ! ] ‘

Awareness: Build service scenario profiles to intelligently identify
service scenario models.

Decision-making: Realize the dynamic scheduling transformation
from service model to resource model. -




Join openEuler Communit
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Welcome To openEuler
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»
® openEu[er https://openeuler.org L



Thank you
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